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Exercise 1.2
Question 1:

Represent these numbers on the number line: (i) % (ii) %5
&, Answer 1:
1 P 5
(i) Z:]E —r-rrrrrrerrTrr
4 4 012345867829 10
) 7 4 4 4 4 4 4 4 4 4 4
Here,Pis 1==—
4 4
.s _5 ] _..1 M
am T T T
=8 -7 -86-5 -4-3 -2 =1
= 6 -
Here, M is ?5 - EREE .
Question 2:
Represent —2 —,— onthe number line. ! o & £ N
BERTRY U B F ot ko ’
€. Answer 2: AR T o
Here,B:_—z,C:_—SandD:_—9
11 11 11

Question 3:

Write five rational numbers which are smaller than 2.

#. Answer 3:
111 -1 -1
-,—,—,— . — ‘and so on.
342 2°5

Question 4:

Find ten rational numbers between _?2 and l

#. Answer 4:
|

Given rational numbers _?2 and 5

Here, L.C.M. of 5 and 2 is 10.
2 2 -4 d L. 5 35

— X —=— — = —
5 2 10 25 10
. 4 2 -8 5 2 10
Again, —x—=— and —
10 2 20 10 220

-2
.. Ten rational number between — and 1 PR e = s Sl TR O ,0,
5 2 20°20°20°20°20°20°20° " 20’

Question 5:
Find five rational numbers between:

2 4 -3 5
i — and — ii — and =
(i) 3 s (ii) 5 3
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€. Answer 5:

2 4
i Z and —
(1) 2 z

L.CM.of3 and 5is 15. .. 2xézE and i><§=E
3 5 15 5 3 15

10 4 40 12 4 48

Again —x—=—and —=x—=—
15 4 60 15 4 60

4 41 42 43 44 45

Five rational numbers between E and — are — — —~— - =
3 5 60 60" 60 60 60"

-3 5
ii — and =
(ii) 7 :
L.CM.of2and 3is 6. .. _—3 § _—gands g=9
2 3 6 32 6
Five rational numbers between _—3 and é are _—8,_—7,0,}-,2.
2 3 6 6 6 6
1 1
iii — and —
(i) 4 2
LCM, 0f 3andZ is4. . eeepimleyy 1, 2_2
4 1 4 2 2 4
8 2 8 16

Again l><§:— and —x—=—
4 8 32 4 8 32
2
Five rational numbers between 1andlare 2 & ﬂ ]_ E
4 2 32732732732732°
Question 6:
Write 5 rational numbers greater than —2.

€. Answer 6:
-3 -1 1

Five rational numbers greater than -2 are: ?,—1,5,0,5

[Other rational numbers may also be possible]
Question 7:

Find ten rational numbers between % and %

#. Answer 7:
The given rational numbers g and % , so the L.C.M. of 5 and 4 is 20.

3 4 12 3 353 15
—x—=—and —x—=—

574 20 45 20
12 8_9 _ 15 8 120

and —x—=—
20 8 160 20 8 160

Five rational numbers between % and % are:

Again

97 98 99 100 101 102 103 104 105 106
1607160° 160 160" 160 160" 160 160" 160160
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